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Factor completely, if possible.

1) x*+5x-36
/N
94
:(ﬁ‘ﬂ()&—'ﬂ//
2) 2x*+7x+3 /6\
(b)) axtl) 6
z
= (x+3)(ax1),

3) x*-49
(D),

4) 4ab+3ac—a
= a(%Bc—l)//

-0
5) x? —9x-10< |

= (X= 10) (¥+1)

6) 4x?-25
N ("L}(TS') (1x-5)

7) —18x* -15x+18
-3 (x4 5x-4)
FAN

_ 6 -
T30 (),
8) 6x’+7xy+y’

( bx zgj‘)(bﬁ /SN

- (xaplexty)
9) x(x-2)-5(x-2)
=(-2)(x5),

\
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10) x* +1
(it ke {actored

11) 15x* —13x+2 30
- (5%X008x-3) 153
.

> (3-D)(Sk-1),
12) 32+4x-x°

SR THTINEE 5% 3%
=S (xT-4x-30 -8 A
T (%) (kYD)

of  (§-X)(x44)
13) x* —13x’ +42x° 42
SXE(R1BX442)

:xz(x—c)(x-ﬂ/

14) 2x° +3x* —8x—12
(o T NI v
= XZ('zx-r?;) '4(1)(-\%)

= (243K )
= (U3 (x+2x-2)y

15) 16y* -1
- (_A(WJ(\‘)(LWL— 1)
- ('J(DL"D@U’LO(ZU'D//

16) _3x3+2x-—l ) v}
= (v:h‘hij:fﬂfi)?_!‘) 3/51

- (XJF'\)(W’D//

17) 5x"1l—|2;\'—_6 <30
- (Sﬁ}c_;‘fﬂ(%f*Z) /\‘[9\‘)_

= (%-3)(5x4D),

18) 124° +28a-24
SA(3aMTA-6) £,
=4 (3a+9) (3a-2)

3
S k(a4 D) (3a-2),
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20) 2x* —13x+21
= (-0 (-1
YN

- (x-2)(x ’7’)//

23) 2x* —x-1 -2
_(ax ) (2xt)

19) 5x(x—2)+3(2-x)
= Sx (x-2) A x-2)

& (x—zvcfx-a)/

21) 50x% —98y”

- 2(725% - 49 ‘jl)
= 2(5x *7v) (G- 7y)//

22) 25x? —=75xy+25y°

> ’25(‘&1—3x$ -W")//

/7 N\
’l,

P2

= (¢ [7(ZX+\)//

24) 42+ x—x?
- _}.;f»_{ X AU N ‘17;2\
= (X x - I }) -7
(X4+b)(4~F)
DR () (7%
25) 9x* —48x+64 . ()¢ )
= (?32( -)(3% -8 ) 2
b ;.‘_"r = (;X'QD
‘ 4
ADDS 1

24x “49x

26) x? —11xy+6xy — 663"
N NS

T X(X*Hv) -(—63()(_“3)
= (U xeby)

27) 18x* -21x+6 2
-3 C 6)(15-})( +D\) _ 23
=5 (ox-4) (bx-2)
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28) -18y* -8 32) 2x* —16x-66 23 36) 2x’y’ —6xy% —56)°

= =20y w) 2 LOC-Rx-33) YN SUNCE Sx-z}\)
:‘LCX\II)(K“’)))// %

"y (%) (xy) ,

29) a® - (x+1)? 33) 2%’ -11x+15 o 37) 4x*—7x-2 ~
- [v\+(><+|)][q—(x+u)] - (1x=b)(2-5) 4 5 - (4%- ) (4xH) N
= (0+x+N (Q_X_D// B o -
T (x-3)(1x-5)y = (%= x4),
30) 4x> -2 34) m2n2+4mn—3[2\ 38) 4x21+144x3
Godi(33) : 6%
. 2 = (i + Y)(W\V\ -l )// 0R Lh(z(g())('\'\)
Y 5x2 195 — 35) x* -1 39) x* —x+1
= ::m‘#fg Bl. T > (X* ) (x*-1) a
Lactored = O () (x -1 (vt be factored

= () O ()X ~l> )

Determine the integer value(s) of k such that the following can be factored.

-1

1) ¥*+kx+6 — 2) x*+kx-8 _— 3) 3x* +kx—4 3
I\ \ AN gig =
V6 ¢ vty 2 12 T o
V-6 =-% | 2 <4 = | ~2] Z -6=|-4|
3 2:| ¢ ¥ 4: |3 2 Saf
-3 2= ")-] " . _}L 2 M= -1
- = Al
Determine the value of k, such that the following is a perfect square trinomial.
sops Showld be ®
A
1) x*+kx+36 2) x*4+20x+k 3) 4x’ +kx-25 4) 9x* -24x+k
+ 1 ( ~)7., (3 \Lﬂz
= (x+6) (x+10) Tx+5 .

=11 | k=100 | (k=%] \k-1¢]
Determine the area of the shaded region in factored form.
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